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QUESTION 1

Which four are possible states in the BGP FSM? (Choose four.) 

A. Idle 

B. Established 

C. Wait 

D. Active 

E. OpenSent 

F. Nonconnected 

Correct Answer: ABDE 

 

QUESTION 2

Refer to the exhibit. Two ISPs have decided to use MSDP and configured routers X and Y (both are PIM RPs) as MSDP
peers. In the domain of ISP B, PC A has sent an IGMP membership report for the group 224.1.1.1 and PC B has sent
an IGMP membership report for the group 224.5.5.5. Assuming that the MSDP peering relationship between routers X
and Y is functional, and given the partial configuration output shown from router X, which two of these statements are
true? Choose two.) 

A. Router X will contain an entry for 224.1.1.1 in its SA cache and will also have an installed (S, G) entry for this in its
mroute table. 
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B. Router X will not contain an entry for 224.1.1.1 in its SA cache but will have an installed (*, G) entry for this in its
mroute table. 

C. Router X will not contain an entry for 224.5.5.5 in its SA cache but will have an installed (S, G) entry for this in its
mroute table. 

D. Router X will not contain an entry for 224.5.5.5 in its SA cache but will have an installed (*, G) entry for this in its
mroute table. 

E. Router X will have no entries for 224.5.5.5 in neither its SA cache nor in its mroute table. 

F. Router X will have no entries for 224.1.1.1 in neither its SA cache nor in its mroute table. 

Correct Answer: AD 

 

QUESTION 3

Refer to the exhibit. What does the incoming interface of the above (*, G) entry indicate? 

A. the interface closest to the source, according to the unicast routing table 

B. the interface where an IGMP join has been received 

C. the interface with the highest IP address 

D. the last interface to hear a PIM (*, G) join 

E. the interface closest to the RP, according to the unicast routing table 

Correct Answer: E 

 

QUESTION 4
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Refer to the exhibit. What triggered the first SPF recalculation? 

A. changes in a router LSA, subnet LSA, and external LSA 

B. changes in a router LSA, summary network LSA, and external LSA 

C. changes in a router LSA, summary network LSA, and summary ASBR LSA 

D. changes in a router LSA, summary ASBR LSA, and external LSA 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. In this network, R1 is configured not to perform autosummarization within EIGRP. What routes will
R3 learn from R2 through EIGRP? 

A. 172.30.1.0/24 and 10.1.2.0/24; EIGRP only performs autosummarization at the edqe between two major networks. 

B. 172.30.0.0/16 and 10.1.2.0/24; R2 will perform autosummarization, although R1 will not. 

C. Since R2 is configured without autosummarization, it will not propagate the 172.30.1.0/24 route. 

D. 172.30.0.0/8 and 10.0.0.0/8 

Correct Answer: A 
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